

Los Rios Community College District

Purchasing: (916)568-3071 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 * FAX (916) 286-3636

Acctg-ops@losrios.edu

PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000006424 AMAZON.COM **BILLING DEPARTMENT** P O BOX 80463 SEATTLE WA 98108

Date Revision Page 12/14/2021 **Freight Terms** Ship Via **Payment Terms**

NET 30 Shipping Point Best Method Reference: Location / Dept

PURCHASE ORDER NO 0001119070

Ship To: FOLSOM LAKE COLLEGE

1033899 MILLERT ROUILLERS

RECEIVING

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

United States

Bill To: **LRCCD**

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court Sacramento CA 95825-3981

United States

Tax Exempt? N

email:

Line-Sch	Item/Description	Quantity UOM	PO Price	Extended Amt	Due Date
1- 1 REC	QOOPE - PACK OF 10 - WARM WHITE 3000K 1142 BA15D LED BULBS 3014 54-SMD REPLACEMENT LAMPS FOR 12V INTERIOR RV CAMPER TRAILER LIGHTING BOAT YARD LIGHT BRAKE TAIL BULBS	10.00EA	13.99	139.90	01/04/2022
2- 1 REC	10PC SYLVANIA 20886 - CF32DT/E/IN/841/ECO COMPACT FLUORESCENT 4 PIN TRIPLE TUBE 4100K, 32W GW24Q-3 (LOT OF 10)	2.00EA	49.99	99.98	01/04/2022
3- 1 rec	25 PACK C7 LED BULBS, 0.5 WATTS LED FILAMENT NIGHT LIGHT BULB EDISON STYLE LED SIGN LIGHT E12 CANDELABRA BASE LAMP CLEAR GLASS 7 WATTS EQUAL CANDLE BULBS WARM WHITE 2700K OUTDOOR STRING LIGHTS	2.00EA	22.99	45.98	01/04/2022
4- 1 REC -9427	GY6.35 LED BULB 5W EQUIVALENT TO 50W HALOGEN INCANDESCENT REPLACEMENT BULBS, T4 JC TYPE G6.35/GY6.35 BI-PIN BASE, AC/DC 12V DAYLIGHT WHITE 6000K NON-DIMMABLE LIGHT BULB (5 PACK)	5.00EA	21.99	109.95	01/04/2022
5- 1 rec	FLSNT B11 E26 BASE LED CANDELABRA LIGHT BULBS 60W EQUIVALENT, DIMMABLE, LED CANDLE LIGHT BULBS, 2700K SOFT WHITE, 12 PACK	4.00EA	21.99	87.96	01/04/2022

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.

Authorized Signature AUTHORIZED SIGNATURE ON PO TOTAL PAGE

Notice to vendor: You are responsible for delivering good and delivery documents to the Receiving Department at the site. Failure to so do will delay payment processing. Vendor is responsible for obtaining verification of delivery by authorized Receiving Room personnel. Receipt of good by other parties and failure to obtain authorized signatures may also delay payment. NOTE: PAYMENT TERMS NET 30 MATERIAL SAFETY DATA SHEETS (MSDS) must be provided with the delivery of product as required by law.

Los Rios Community College District

t

PURCHASE ORDER NO 0001119070

Revision

Freight Terms

Shipping Point

Purchasing: (916)568-3071 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 * FAX (916) 286-3636

Acctg-ops@losrios.edu

PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000006424 AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108

Ship To:

NET 30

Reference:

Date

12/14/2021

Payment Terms

FOLSOM LAKE COLLEGE

RECEIVING

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

United States

Bill To:

LRCCD

1033899 MILLERT ROUILLERS

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court Sacramento CA 95825-3981

United States

Tax Exempt? N

email:

Line-Sch Item/Description

Quantity UOM

PO Price

Extended Amt

Due Date

Page

Location / Dept

Ship Via

Best Method

ORDERS PLACED 12-14-21 - SR

111-9383995-5210645 111-3907494-9856261 111-6767516-2703404

PAID

LN1, 3, 4, 5

CHECK #:

DATE:

PAID

1/14/22

AMOUNT \$: 107.72

LN₂

CHECK #: 0094822884

VOUCHER #:

DATE:

1/3/22

150.74 49.54,

AMOUNT \$: 118.47, 94.78

VOUCHER #: 00615612

00616366

0094823173

Sub Total Amount Sales Tax Amount Total PO Amount

BYear

2022

483.77 37.49 521.26

 BU
 Acct
 Fd
 Org
 Prog
 Sub
 Proj
 Amount

 GENFD
 5600
 12
 FL.VA.VAPA
 70900
 00000
 364A
 521.26

0001033899CHAVEZA13-DEC-2021

Verification of this purchase order can be made using the Los Rios Community College District web site listed below. If you have any questions, please contact the Purchasing Office at email address: LRCCDpurchase@losrios.com.

https://psreports.losrios.edu/PurchaseOrderInformation.asp

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.

Authorized Signature

Notice to vendor: You are responsible for delivering good and delivery documents to the Receiving Department at the site. Failure to so do will delay payment processing. Vendor is responsible for obtaining verification of delivery by authorized Receiving Room personnel. Receipt of good by other parties and failure to obtain authorized signatures may also delay payment. NOTE: PAYMENT TERMS NET 30 MATERIAL SAFETY DATA SHEETS (MSDS) must be provided with the delivery of product as required by law.

Requisition

Supplier: AMAZON.COM

BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 **United States**

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY

FOLSOM CA 95630-6798

0000006424

OPEN Business Unit: GENFD Page Req ID: Date 0001033899 12/10/2021 Requisition Name: AMAZON.COM Requester Travis Miller Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: CHADWICS 10-DEC-2021

Line-Schd	Description	Quantit	ty UOM	Price	Extended Amt Due Date
1-1	QOOPE - PACK OF 10 - WARM WHITE 3000K 1142 BA15D LED BULBS 3014 54-SMD REPLACEMENT LAMPS FOR 12V INTERIOR RV CAMPER TRAILER LIGHTING BOAT YARD LIGHT BRAKE TAIL BULBS	10	EA	13.99	139.90 12/10/2021
2-1	10PC SYLVANIA 20886 - CF32DT/E/IN/841/ECO COMPACT FLUORESCENT 4 PIN TRIPLE TUBE 4100K, 32W GW24Q-3 (LOT OF 10)	2	EA	49.99	99.98 12/10/2021
3-1	25 PACK C7 LED BULBS, 0.5 WATTS LED FILAMENT NIGHT LIGHT BULB EDISON STYLE LED SIGN LIGHT E12 CANDELABRA BASE LAMP CLEAR GLASS 7 WATTS EQUAL CANDLE BULBS WARM WHITE 2700K OUTDOOR STRING LIGHTS	2	EA	22.99	45.98 12/10/2021
4-1	GY6.35 LED BULB 5W EQUIVALENT TO 50W HALOGEN INCANDESCENT REPLACEMENT BULBS, T4 JC TYPE G6.35/GY6.35 BI-PIN BASE, AC/DC 12V DAYLIGHT WHITE 6000K NON-DIMMABLE LIGHT BULB (5 PACK)	5	EA	21.99	109.95 12/10/2021
5-1	FLSNT B11 E26 BASE LED CANDELABRA LIGHT BULBS 60W EQUIVALENT, DIMMABLE, LED CANDLE LIGHT BULBS, 2700K SOFT WHITE, 12 PACK	4	EA	21.99	87.96 12/10/2021

483.77 Sub-total 37.49 Est. tax

Total Requisition Amount: 521.26

ORDER# 111-9383995-5210645

 Org
 Prog
 Sub
 Proj

 FL.VA.VAPA
 70900
 00000
 364A
 Acct Fd 5600 12 <u>Amount</u> 483.77 GENFD

Approval Signature	Approval Signature	Approval Signature	

Requisition

Supplier: AMAZON.COM

BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 **United States**

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY

FOLSOM CA 95630-6798

0000006424

OPEN **Business Unit:** GENFD Page Req ID: Date 0001033899 12/10/2021 2 Requisition Name: AMAZON.COM Requester Travis Miller Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: CHADWICS 10-DEC-2021

Line-Schd Description Quantity UOM Price Extended Amt Due Date

Purchases Charged to Catagorical Programs, Grants or Special Project.

Program Name: SVOG Project Grant: 364A

Program Director: AUGUSTINE CHAVEZ

Program Goal: MAINTENANCE FOR HARRIS REOPENING

Approval Signature	Approval Signature	Approval Signature	



Details for Order #111-9383995-5210645

Paid By: LOS RIOS CCD Placed By: Sera Chadwick Order Placed: December 10, 2021

Amazon.com order number: 111-9383995-5210645

Order Total: \$94.76

Business order information

Requisition number: 0001033899

Not Yet Shipped

Items Ordered Price

4 of: FLSNT B11 E26 Base LED Candelabra Light Bulbs 60W Equivalent, Dimmable, LED Candle Light Bulbs, 2700K Soft White, 12 \$21.99

Pack

Sold by: FLSNT (seller profile) | Product question? (Ask Seller)

Condition: New

Shipping Address:

TRAVIS MILLER
10 COLLEGE PKWY
FOLSOM, CA 95630-6798
United States

Shipping Speed:

FREE Prime Delivery

Payment information

Payment Method: Item(s) Subtotal: \$87.96

Shipping & Handling: \$0.00

Total before tax: \$87.96

Estimated Tax: \$6.80

Grand Total: \$94.76

To view the status of your order, return to Order Summary.

Conditions of Use | Privacy Notice © 1996-2020, Amazon.com, Inc.



Details for Order #111-3907494-9856261

Paid By: LOS RIOS CCD Placed By: Sera Chadwick Order Placed: December 10, 2021

Amazon.com order number: 111-3907494-9856261

Order Total: \$275.71

Business order information

Requisition number: 0001033899

Not Yet Shipped

Items Ordered Price

2 of: 10pc Sylvania 20886 - CF32DT/E/IN/841/ECO Compact Fluorescent 4 Pin Triple Tube 4100K, 32w GX24q-3 (Lot of 10)

\$49.99

Sold by: Bulbs"n"More (seller profile)

Condition: New

2 of: 25 Pack C7 LED Bulbs, 0.5 Watts LED Filament Night Light Bulb Edison Style LED Sign Light E12 Candelabra Base Lamp

\$22.99

Clear Glass 7 Watts Equal Candle Bulbs Warm White 2700K Outdoor String Lights

Sold by: GANLILAN (seller profile)

Condition: New

5 of: GY6.35 LED Bulb 5W Equivalent to 50W Halogen Incandescent Replacement Bulbs, T4 JC Type G6.35/GY6.35 Bi-pin Base,

\$21.99

AC/DC 12V Daylight White 6000K Non-Dimmable Light Bulb (5 Pack)

Sold by: Gaomee (seller profile)

Condition: New

Shipping Address:

TRAVIS MILLER
10 COLLEGE PKWY
FOLSOM, CA 95630-6798
United States

Shipping Speed:

Two-Day Shipping

Payment information

Payment Method: Item(s) Subtotal: \$255.91

Shipping & Handling: \$0.00

Total before tax: \$255.91

Estimated Tax: \$19.80

Grand Total: \$275.71

To view the status of your order, return to Order Summary.



Details for Order #111-6767516-2703404

Paid By: LOS RIOS CCD Placed By: Sera Chadwick Order Placed: December 10, 2021

Amazon.com order number: 111-6767516-2703404

Order Total: \$150.70

Business order information

Requisition number: 0001033899

Not Yet Shipped

Items Ordered Price

10 of: Qoope - Pack of 10 - Warm White 3000K 1142 BA15D LED Bulbs 3014 54-SMD Replacement Lamps for 12V Interior RV

\$13.99

Camper Trailer Lighting Boat Yard Light Brake Tail Bulbs

Sold by: Defvnsy (seller profile)

Condition: New

Shipping Address:

TRAVIS MILLER 10 COLLEGE PKWY FOLSOM, CA 95630-6798 **United States**

Shipping Speed:

Standard Shipping

Payment information

Payment Method: Item(s) Subtotal: \$139.90 Pay by invoice

Shipping & Handling: \$0.00

Total before tax: \$139.90

Estimated Tax: \$10.80

Grand Total: \$150.70

To view the status of your order, return to Order Summary.

Conditions of Use | Privacy Notice © 1996-2020, Amazon.com, Inc.

* AMAZON

PO# 000 1119 070 2 CVR # 000 109 9427

L#4 AS PER PS HAS B EEN REC. mkn

12/20/21 Bahu

Order ID: 111-3907494-9856261 Ordered on December 10, 2021





Perchase Order # 0001419070 Order of December 10, 2021

Qty.

GY6.35 LED Bulb 5W Equivalent to 50W Halogen Incandescent Replacement Bulbs, T4 JC Type G6.35/GY6.35 Bi-pin Base, AC/DC ... X002AX733D

GAO-GY6.35-21-2835-DW-5x 7370678837745 (Sold by Gaornee)

Return or replace your Item Visit Amazon.com/returns

LINE 4

O/MvFWT7GzS/-5 of 5-//SCK9-KRFD/second/0/1217-07:00/1217-02:19

B3-10

* AMAZON

PO#0001119070 RCNR#0001099464

12/23/21 Baba

* Ln#1, Pt7#10 -> PCVD.

- No Packing List.

* AMAZON

PO# 0001119070 PCVR #000109 9507

1/5/22 Betwee





Purchase Order #: 0001119070 Order of December 10, 2021

Qty. Item

10pc Sylvania 20886 - CF32DT/E/IN/841/ECO Compact Fluorescent 4 Pin Triple Tube 4100K, 32w GX24q-3 (Lot of 10) Tools & Home Improvement

X001CXDAGV SYL20886-10PK 046135208867 (Sold by Bulbs"n"More)

Return or replace your Item Visit Amazon.com/returns



0/MfJBhjHjK/-1 of 1-//UPS-BURMD-T/second/0/1229-12:30/1229-08:40

A1-60